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32. Find the product - 2w(— 4w? +5wT + 2w+ 12)

W = 10W?-thw = 24w 2

—
33. Find the product (a + 6)—8a - 7) o |~Yb|-42
—Ral-Tg-Y80-42 o |57

-804 ~s5a -H42 S0 —/
34. Find the product (4x +9)° 9 |3 €l
1o X* +72x+8) yx | 167 3bx
Ux t4

35. Write an expression to represent the area of the rectangle and simplify the expression.
Rectangle <q7-7> (U(y+7> T
S
by -41 w7

—

4y - 7

4y + 7

36. Factor f(x)=x" —9x — 36 and write the factors as a function of x. Z

Coge (X-10) (% +3) & &7
e N

37. Factor f(x)=8x" —6x —9and write the factors as a function of x.

FOY=(4n3 ) (2xe?)

38. Which of the following is the complete factorization of 20z* + 5z —15

5(%\+z -3)
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oy
—Yn —3)
=)x

39. Which of the following is the complete factorization of 8:::2 3

(ex-3X X EX —(Ix+>

§x°

(S

2 3
40. Which of the following is the complete factorization of x* @ X +7

@) (x+) (X =7 X+47)

41. Which two consecutive integers does /153 fall between?

AN
e 13

42. What is the standard form of a quadratic equation? a X + b X *_C

43, Sara drops a ball from the top of a bridge into a lake. The bridgeé ;0 feet aboye the water. She
releases the ball and watches as it hits the water. How long will it take Tor the ball to hit the water?
Use the falling object model 4 =-16¢" + s, where h is measured in feet and represents the ending
height of the object, # is the number of seconds the object has fallen, and s is the initial height from

which the object is dropped. l’) = btz 40 0= - “o‘t-“i'qu
h=07

44, Solve the following equationx’

45. Solve the following equation 2x* -5=27. 2x", 2 )CZ’ | So

t5 +s = :
5 Z = < = M
46. Which is the simplest form of 126 ? = )}_,)LI_/ EUJ

47. Simplify the expression —28e 24, = =2 1' g2 0-) 9.0

-2:282 . 276

4§z 200

48. Simplify the expression 144 m \ /
U T

T ) 353
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49. The maximum or minimum of a parabola is called the \/ W I/a 7\

50. Which function is represented by the graph on the right?
f

\
yAnts |
L ;>z><+D [12\

i'll' +1 .\"\

X 3 | =Z( X~ : )

X5 = (X~ 3) | ? I ok
E& . ' I\\.\ /

Y = (%X - (3,

>

e S

W\

—
N

| (o Aol Fachmal~

51. Find the values of x for which f(x) =0, for the function f(x)=6x> —11x—10.
O:@XZ}
X; ZZB
n 15,64 <

0=06 b=-\V C=z-10
X;«*l\jm@ EX e

&) (oc _ l) +aqv _ 125 Nz lo.g

() Iz > Iz x= 40
52. Identify the x-intercepts andgg-intercept)for the function f(x)=4x’ —20x +25. \

N\ = (2X=5 X -5
Eachor of (0,25) O =(zx-5)(
g o =2x-5
= x - x—m‘r(zglc')

]
P

@ud)’ﬂ"—’ <
53. Aubrey threw a rock straight up into the air with an initial velocity from a point above ground. The vertical
motion model representing this situation is, & =—16¢> + 32t +10, identify th fthe
52 £+ [sec TS+ vilsaty
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54. What number must be added to both sides of the equation to complete the square?-=r2==20s==i=

Vo (K= 5>+7I\ whad is e vertex?
0e¢  camre (57)

55. Identify the axis of symmetry of the parabola in the graph on the right.

56. A model rocket is launched from the roof top of a building. Its flight path is modeled by

h=-16¢> +32t + 5, where h is the height of the rocket above the ground in meters and £ is the time
after the launch in seconds. Find the maximum height the rocket will reach during its flight path.

( /IZI)& S or X 7o 323 32724 o1,
2 "1k
\/ Ny 7{: | h:«)g(l>2+
(=21

57. What are the roots of the quadratic equation —2x* + 7x +4=0? (_Q\J G )rO % C
Give the exact roots and the approximation(decimal) answers.
T —

X =) i‘\/ 72 (2DdY ‘7 1 & j:i/?
2 TR 7]
c_f
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58. The graph shows the path of a football during a field goal kick. The path the football travels can be
modeled by y =-0.0071x” + x, where y represents the height of the rocket and x represents the
horizontal distance. What point represents the maximum height of the football in the air?

¢ (65,32) "l vorkex
[lt't'liu_"‘ i Vn * ( J m
20 /’_‘.——--‘-Nll?h

N
20

e

gogl pest

10

>
10 20 30 40 50 60 70 80 90 100 110120 130 y (feet!
goal line

59. What term should you add to x* + 20x , to create a perfect square trinomial?

><L+7o><+_|j a-dd
CZO Cw) — (0O

2 _ . A —

60. Solve xZ—IOx—IZ by completing the square. X —1OX+25 = | 2€725S
X —tox +_ =12 +] l ( XK-5)° =37
(‘;‘ZQ>2: 7S 25 X — :iﬁ
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